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UG/1st Sem/G/20[AEC-1]/(CBCS)

2020

ENVIRONMENTAL STUDIES
(B.A. General)

Paper : ENVSG - AEC-1
(CBCS)

Full Marks : 40 Time : One Hour

The figures in the margin indicate full marks.

Each question carries 2 marks.

²Ì!“þ!Ýþ ²ÌöìÙÀîû ›y˜ 2Ð

1. Green revolution is associated with —

(A) Agriculture

(B) Pisciculture

(C) Aquaculture

(D) Sericulture

1. ¢î%‹ !î²Õî ëyîû ¢öìD ¢Á™!„Åþ“þ éôôôé

(A) ‰þy¡ì xyîy”

(B) ›ê¢Ä‰þy¡ì

(C) xÄyöì„þyëûy „þyœ‰þyîû

(D) öîûŸ› ‰þy¡ì



Page : 2 of 11

2. ‘Silent valley’ lies in the state of —

(A) Bihar

(B) Kerala

(C) Tamil Nadu

(D) Goa

2. ò¢y£zöìœrÝþ ¦þÄy!œó öë îûyöì‹Ä xî!ßþi“þ ôôôé

(A) !î£yîû

(B) ö„þîûyœy

(C) “þy!›œ˜yvþY

(D) ö†yëûy

3. 5th June is observed as —

(A) World Forest Day

(B) World Environment Day

(C) World Wildlife Day

(D) World Population Day

3. 5£z ‹%̃  vþz”äëyþ™˜ „þîûy £ëûþ ôôôé

(A) !îÙ» xîû’Ä !”î¢

(B) !îÙ» þ™!îûöìîŸ !”î¢

(C) !îÙ» î˜Ä²Ìy’ !”î¢

(D) !îÙ» ‹˜¢‚…Äy !”î¢
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4. Bhopal Gas Disaster occurred in the year of —

(A) 1984

(B) 1964

(C) 1974

(D) 1980

4. ¦)þþ™yœ †Äy¢ !îþ™ëÅëû ‡öìÝþ!Šéœ öë îŠéöìîû ôôôé

(A) 1984

(B) 1964

(C) 1974

(D) 1980

5. Which one of the following is biodegradable ?

(A) Paper

(B) DDT

(C) Aluminium

(D) Plastic

5. ˜#öì‰þîû ö„þy˜!Ýþ þ™‰þ˜Ÿ#œ Ú

(A) „þy†‹

(B) !vþ.!vþ.!Ýþ.

(C) xÄyœ%!›!˜ëûy›

(D) ²Õy!ÞÝþ„þ
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6. The Taj Mahal at Agra may be damaged by —

(A) Sulphur di-oxide

(B) Nitrogen

(C) Hydrogen

(D) Oxygen

6. xy@ùÌyîû “þy‹›£öìœîû Çþ!“þ £öì“þ þ™yöìîûþ ôôôé

(A) ¢yœšþyîû vþy£z x:y£zöìvþîû myîûy

(B) ˜y£zöìÝþÆyöì‹˜ myîûy

(C) £y£zöìvÈþyöì‹˜ myîûy

(D) x!:öì‹˜ myîûy

7. Full form of CNG is —

(A) Common Natural Gas

(B) Compressed Natural Gas

(C) Common National Gas

(D) Certified Natural Gas

7. CNG éô é~îû þ™%öìîûy „þíy!Ýþ £œ ôôôé

(A) „þ›˜ ˜Äy‰þyîûyœ †Äy¢

(B) „þöìÁ±¢vþ ˜Äy‰þyîûyœ †Äy¢

(C) „þ›˜ ‹y“þ#ëû †Äy¢

(D) ¢y!ÝÅþšþyöìëûvþ ˜Äy‰þyîûyœ †Äy¢
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8. Which of the following is an air-borne disease ?

(A) Malaria

(B) Chicken Pox

(C) Cholera

(D) Dengue

8. ˜#öì‰þîû ö„þy˜!Ýþ îyëû%îy!£“þ öîûy† Ú

(A) ›Äyöìœ!îûëûy

(B) !‰þöì„þ˜ þ™:

(C) „þöìœîûy

(D) övþD%

9. Eutrophication is related to—

(A) Air pollution

(B) Water pollution

(C) Global Warming

(D) None of the above

9. £zvþzöìÝþÆy!šþöì„þŸ˜ ëyîû ¢öìD ¢Á™!„Åþ“þ ôôôé

(A) îyëû% ”)¡ì’

(B) ‹œ ”)¡ì’

(C) !îÙ» vþz¡Œyëû̃

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëû
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10. Which one of the following is related to Rhino conservation ?

(A) Sunderban

(B) Gir

(C) Jaldapara

(D) Bandhavgarh

10. ˜#öì‰þîû ö„þy˜!Ýþ †uþyîû ¢‚îûÇþöì’îû ¢öìD ¢Á™!„Åþ“þ Ú

(A) ¢%̈ îûî˜

(B) !†îû

(C) ‹œ”yþ™yvþüy

(D) îyõî†vþü

11. In ecosystem oxygen is one kind of —

(A) Biotic element

(B) Abiotic element

(C) Both (A) and (B)

(D) None of the above

11. îylßþ“þöìsþf x!:öì‹˜ £óœ ~„þ •îûöì̃ îûþ ôôôé

(A) ‹#î‹ vþzþ™y”y˜

(B) x‹#î‹ vþzþ™y”y˜

(C) (A) ç (B) vþz¦þëû£z

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëû
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12. Ramsar site means —

(A) Desert

(B) Netland

(C) Plain

(D) Forest

12. îûy›¢yîû öÇþe îœöì“þ öîyGþyëûþ ôôôé

(A) ›îû&¦)þ!›

(B) ‹œ¦)þ!›

(C) ¢›¦)þ!›

(D) xîû’Ä

13. Non-conventional energy source is —

(A) Coal

(B) Petroleum

(C) Fire Wood

(D) Sunlight

13. x²Ì‰þ!œ“þ Ÿ!_«îû vþzê¢ £óœ ôôôé

(A) „þëûœy

(B) öþ™öìÝþÆy!œëûy›

(C) ‹µyœy˜# „þyàþ

(D) ¢)ëÅyöìœy„þ
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14. Suitable plant for bio-diesel production is —

(A) Jatropha plant

(B) Genetropha plant

(C) Mango plant

(D) Coconut plant

14. ÷‹î !vþöì‹œ vþzêþ™y”öì̃ îû ‹˜Ä vþzþ™ë%_« †yŠé £óœ ôôôé

(A) ‹yöìÝþÆyþ™y †yŠé

(B) ö‹öì̃ öìÝþÆyþ™y †yŠé

(C) xy› †yŠé

(D) ˜y!îûöì„þœ †yŠé

15. Source of Carbohydrate is —

(A) Edible Oil

(B) Fish

(C) Rice

(D) Salt

15. Ÿ„Åþîûyîû vþzê¢ £óœ ôôôé

(A) ö¦þy‹Ä ö“þœ

(B) ›yŠé

(C) ¦þy“þ

(D) œî’
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16. The ecological pyramid that is always upright is —

(A) Pyramid of number

(B) Pyramid of biomass

(C) Pyramid of energy

(D) None of these

16. îylßþ“þöìsþfîû öë !þ™îûy!›vþ ¢îÅ”y vþz•¹Å›%…# £ëû ôôôé

(A) ¢‚…Äy !þ™îûy!›vþ

(B) ÷‹î¦þîû !þ™îûy!›vþ

(C) Ÿ!_« !þ™îûy!›vþ

(D) ö„þyöì̃ y!Ýþ£z ˜ëû

17. Rickets may be caused by —

(A) Vitamin A deficiency

(B) Vitamin C deficiency

(C) Vitamin D deficiency

(D) Vitamin K deficiency

17. !îûöì„þöìÝþîû „þyîû’ £öì“þ þ™yöìîû ôôôé

(A) !¦þÝþy!›˜ Aéôé~îû x¦þyî

(B) !¦þÝþy!›˜ Céôé~îû x¦þyî

(C) !¦þÝþy!›˜ éDôé~îû x¦þyî

(D) !¦þÝþy!›˜ éKôé~îû x¦þyî
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18. The chemical that is used to ripen mango is —

(A) Calcium Sulphide

(B) Calcium Carbonate

(C) Calcium Chloride

(D) Calcium Carbide

18. xy› þ™y„þyöì̃ yîû ‹˜Ä öë îûy¢yëû!˜„þ îÄî£yîû „þîûy £ëû “þy £óœ ôôôé

(A) „þÄyœ!¢ëûy› ¢yœšþy£zvþ

(B) „þÄyœ!¢ëûy› „þyöìîÅyöì̃ Ýþ

(C) „þÄyœ!¢ëûy› ö„Ïþyîûy£zvþ

(D) „þÄyœ!¢ëûy› „þyîÅy£zvþ

19. Maximum density of water is at —

(A) 100°C

(B) 0°C

(C) –20°C

(D) 4°C

19. ‹öìœîû ‡˜c ¢îÅy!•„þ £ëûþ ôôôé

(A) 100°C

(B) 0°C

(C) –20°C

(D) 4°C
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20. The medicine quinine is produced from —

(A) Eucalyptus plant

(B) Tulsi plant

(C) Cinchona plant

(D) Money plant

20. „%þ£z̃ y£z̃  è¡ì•!Ýþ ÷“þîû# £ëû ôôôé

(A) £zvþz„þÄy!œþ™Ýþy¢ †yŠé öíöì„þ

(B) “%þœ¢# †yŠé öíöì„þ

(C) !¢öìBþy˜y †yŠé öíöì„þ

(D) ›y!˜²ÕÄyrÝþ öíöì„þ


